MS Algebra: 2.54

Warwm-up

Goal: | can represent linear
functions with tables, verbal
descriptions, symbols, equations,
and graphs - and franslate from
one representation to another.

HW: Worksheet 2.94 :

APra gos St s cost = $3.00 - # of gallons of gas
woe \Owc& %&%—Qo(‘ f(x) =.3x
& oo gl —

Graph:
45 e
) 40
Independent Variable x:
# of gallons of gas 35
Dependent Variable f(x): [5,20
cost o5
L)
Table: 20
15 -4
# gallons - 4
of gas x| Y 10 7
5
0 |
+5C — )+15 2 4 6 8 10 12 14 16 18
s 5 Fr aallons o, g
+5( - )+15 Find f(7) and explain its theaning in
g5 C ?) O ) +15 context of the problem.
15 LJ‘ V_) Q@\:BU) =21

If you buy 7 gallons of gas, your

What is the rate of change? 15/5 = $3/gallon cost will be $21.

CW 2.5.4 Function Representations Name

At the Vikings' game, it is Ball Park # of hot dogs = 2 - # of fans
Frank Day. Each football fan will =
f(x) = 2x
receive two free hot dogs with their Graph:
paid admission to the game. 9 ’
Independent Variable x: by 8
# of fans attending game %b 7 7
Dependent Variable f(x): § 6
# of free hot dogs 5
Table: 5,
R
# of fans # of
> | hotdogs z
0 S 1’/
12 3 45 6 7 89
1 oS Cans
5 Find f(500) and explain its meaning
44 in context of the problem.
3 & S (©00™ 2(500) = 1000
If there are 500 fans, 1,000 free
4 Oo hot dogs will be given away.
si ion 3: E A
At an outsde maf ket cost = $0.50  # of ears of corn
I&D\)L COoN bwﬂ oo f(x) = 0.50x
200 ofF co( o _—_—

H0-=0.

Independent Variable x:
# of ears of corn

Dependent Variable f(x):
cost

Kb—\[\)LAJ-P(.J'IC?\\]@&D

@
Table: S
# ears cost
of corn
0 0
+6C >+3 2 4 6 8 10 12 14 16 18
6 3 # of ears of corn
+6C )+3 If you increase the # of ears of corn
12 6 by 12, how much will the cost
+6C >+3 increase?
18 9
$6 0.5(12)

What is the rate of change? $3/6 ears = $0.50/ear of corn



